CHURCHLANDS SENIOR HIGH SCHOOL
MATHEMATICS SPECIALIST 3, 4 TEST TWO 2017

Calculator Section
ot Chapters 3, 4,

Name Time: 15 minutes
Total: 14 marks

1. [9 marks: 2,1,2,4]

The position vectors of A and B, t hours after 10 am are 1 = - 4i-4j+ t(2i+ 3j)and
r=3i+ 10j+ t(ai+ j) respectively.

a) Find AB t hours after 10 am.
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b) Find in terms of a and t, the distance between A and B, t hours after 10 am.
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¢) Explain why when collision between A and B occurs, AB = 0i + 0j.
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d) Find the value of a if the two particles never collide,
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2. [ 5 marks]

Find the parametric and hence the Cartesian equation of the line perpendicular to the vector
3i - 7j and passing through the point (-9,12).
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